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Unit 4 Study Guide Name S
1) AABC is dilated by a scale factor of 3.5, what is the new point of C'?
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4) Given: E is-the midpoint of AC and DB
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5) ADEF and AI‘UV are congruent triangles. Which statement is known to be true?
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6) Determine the dilation scale factor.
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7) Find the missing side, ?.
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Determine if the triangles are similar by AA~, SAS™ or SSS~. Otherwise, write Not Similar. Show your proportions,

12) If DE = 3x - 15 and AC = 30, find x.
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14) In the triangles shown, AABC is dilated by a factor
of 3Eto form AXYZ. Given that mAC = 45° and
mAaA = 35°, whatis m&Y?
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13) Find the length of X.
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15) The line on the left was dilated by a scale factor of
14, Approximate the point of dilation.
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16) The triangles at the right are similar. Complete the

similarity statement using the figures below.
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18) If a tree casts a 24-foot shadow at the same time
that a yardstick casts a 2-foot shadow, find the

height of the tree.
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20) If the area of a triangle gets smaller from a
dilation, write an example of a scale factor that
would create this transformation.

. Smslle— Yhe
L= any # pgim A |

—

bt bigger fraan O
Ex3,.7, 2

22) If arectangle is dilated by a scale factor of 7 how

much larger will the PERIMETER of the new shape

be when compared to the qriginal?
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19) On level ground, the base of a tree is 30 ft from the
bottom of a 33~ f flagpole. The tree is shorter than
the pole. At a certain time, their shadows end at the
same point 71 ft from the base of the flagpole. How

tall is the tree?
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21) If the perimeter of a triangle gets larger from a
dilation, write an example of a scale factor that
would create this transformation.

K_:.G/\\,/ S ko’ﬁ‘jef e l

Ex 15,%,194 7.8

23) Ifarectangle is dilated by a scale factor of 7 how

much larger will the AREA of the new shape be
when compared to the original?
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